
 

9878 Pocket Door Hardware Set 
  Installation Instructions 

   I-SD00465 
 

Rev 3, Rev Date: 12/20/21 Always visit www.hagerco.com for the latest Installation Instructions 

HAGER COMPANIES 139 Victor Street, St. Louis, MO 63104 • (800) 325-9995 

Page 1 of 4 

 

1 Prepare the Rough Opening 
 

 

• Measure the Rough Opening using Figure 1 

Note: If measuring from a rough sub-floor, make sure to add the estimated thickness of the finished floor 
material and/or carpeting. 

• Ensure the Rough Studs are plumb, and the Rough Header and Floor are level 

Note: A square Rough Opening is important for the pocket door to work properly 

 
Figure 1 

 

  

Contents: Quantities:  

CS HD 

72 96 72 96 
1. 68-3/4” Pocket Door Track 

92-3/4” Pocket Door Track 

2. Rubber Bumper (9881CS) 

3. #8 x 5/8” PPHW Screw 

1 

- 

1 

10 

- 

1 

1 

13 

1 

- 

1 

10 

- 

1 

1 

13 

 

4-wheel Hanger Parts Bag 9805 9806 

4. Non-Ball Bearing 4-wheel Roller - 150lb or 

Ball Bearing 4-wheel Roller - 250lb 

5. Hanger Plate 

6. Hanger Wrench 

7. M5.5 x 32mm PPHW Hanger Plate Screw 

8. Floor Guide (9883CS) 

9. M4.2 x 13mm Washer PHW Floor Guide 

Screw 

2 

- 

2 

1 

4 

2 

2 

2 

- 

2 

1 

4 

2 

2 

- 

2 

2 

1 

4 

2 

2 

- 

2 

2 

1 

4 

2 

2 

1. 

5. 

8. 

4. 

7. 

6. 9. 

3. 

2. 



 

9878 Pocket Door Hardware Set 
  Installation Instructions 

   I-SD00465 
 

Rev 3, Rev Date: 12/20/21 Always visit www.hagerco.com for the latest Installation Instructions 

HAGER COMPANIES 139 Victor Street, St. Louis, MO 63104 • (800) 325-9995 

Page 2 of 4 

 

2 Mount the Track 
 

• Prepare the Track 

Note: The Track in each kit will fit 

either a 3’-0” (91.44 cm) or 4’-0” 
(121.92 cm) door. However, the 

Track can easily be cut 4-1/4” 
shorter than the Rough Opening 

Width to accommodate a shorter 
size door. 

• Position the Track against the 

Rough Header  

Note: Make sure the Track is center 
of the Rough Opening width and 

depth 

• Secure the Track using #8 x 5/8” 
Pan Phillips Head Wood Screws 

Note: If the Rough Header is not 

wood, please use the appropriate 
fasteners (not included) for the 

material. 

 

 
Figure 2 

 

 

3 Mount the Door Hardware 
 

• Seal all 6 sides of the door 

• Create a pilot hole using a 5/64” drill bit at the center of the pocket side door thickness, 40” from the bottom of 
the door. See Figure 3. 

• Install the Rubber Bumper using the #8 x 5/8” Pan Phillips Head Wood Screws  

• Position both Hanger Plates center of the top door edge thickness. One 2-1/4” from the left door edge and the 

other 2-1/4” from the right door edge. Make sure the slots on both Hanger Plates are facing the pocket side 

door edge. See Figure 4 

• Create pilot holes using a 7/64” drill bit and the Hanger Plates as templates 

• Install the Hanger Plates using the M5.5 x 32mm Pan Phillips Head Wood Screws 
 

 
Figure 3 

 

 
 

 
 

 
Figure 4 

 



 

9878 Pocket Door Hardware Set 
  Installation Instructions 

   I-SD00465 
 

Rev 3, Rev Date: 12/20/21 Always visit www.hagerco.com for the latest Installation Instructions 

HAGER COMPANIES 139 Victor Street, St. Louis, MO 63104 • (800) 325-9995 

Page 3 of 4 

 

4 Hang the Door 
 

• Insert the 4-wheel Rollers into the Tracks 

• Unlatch the Hanger Plates 

• Slide the Hanger Plates’ slot onto the 4-wheel Rollers’ bolt 

• Latch the Hanger Plates 
 

 
Figure 5 

 

 

  



 

9878 Pocket Door Hardware Set 
  Installation Instructions 

   I-SD00465 
 

Rev 3, Rev Date: 12/20/21 Always visit www.hagerco.com for the latest Installation Instructions 

HAGER COMPANIES 139 Victor Street, St. Louis, MO 63104 • (800) 325-9995 

Page 4 of 4 

 

5 Finish the Jambs and Trim  
 

• Use the Hanger Wrench provided to adjust the 

door hangers. Make sure the door is square 

with the frame. 
Note: There is about half an inch of adjustment 

that can be made with the door hangers. Leave 
about 3/4” clearance between the floor and the 

bottom edge of the door. See Figure 7. 
 

 

 
Figure 6 

 
Figure 7 

 

• Create pilot holes to the finish split jamb using a 5/64” 

drill bit and the Floor Guide as templates. See Figure 
7. 

• Install the Floor Guide using the M4.2 x 13mm Washer 

Phillips Head Wood Screw 

 


